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Oersted   -  current carrying wire deflects compass needle.


[image: image11.wmf]d

I

2

I

1

l

B

2

F

1



 EMBED Equation.DSMT4  [image: image2.wmf]

[image: image3.wmf]0

m

  permeability of free space


[image: image4.wmf]7

0

410

Tm

x

A

mp

-

×

=


· A long straight wire has a current of 1.5 A.  Find the magnitude of the magnetic 5.0 cm from the wire.
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Force Between Parallel Conductors:

Mag Force acts on current carrying conductors

2 current carrying conductors create own mag fields


exert forces on each other

2 wires separated by distance d
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Wire 2 sets up magnetic field B2
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This field exerts force on wire 1
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Can arrange to show force per unit length
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Direction of F1 is down – towards other wire

The other wire will be attracted to the first by a force of the same magnitude.

If current flows in opposite directions,


Wires repel each other

Coulomb's Law of Magnetism:   
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